Mpuaor 16

Maprhja 2
Pasum "
rpahesmcky Onuc a0bpa Aoy, | Wk | Keoompourintn Hamnomena ( kant Tpaka y 6ojn nsepnue) s
MaTepHjatH o1 (M) (M) (woman) 6es M/1B-a
apeeta
0,300 0.504 | kaut AbC y kpyr, exuua -1 L]
0,150 0.502 2 xant ABC y kpyr, cxnua -211
1.080 0414 2 kan1 AbC 2 gywka, ckuna -311
1,100 0,400 2 kanT ABC 2 nywa
0,450 0,290 1 kauT ABC | mvka
1. Heepuna onsemersena 0.504 0.504 1 xaut ABC v kpyr
1.8 um 0,600 0.464 1 kaut ABC | mywa 2 kpahe
A-427 0.464 0.464 2 kant ABC | avaa 2 kpahe
0.100 0,464 1 KaHT ABC v Kpvi
0.060 0.464 1 kant AbC v kpys
0.060 0,500 3 kaut ABC y kpyr
0.060 0.464 3 ka1 AbC v kpyr
0464 0,150 2 kanT AbC vy kpyi
1.004 0.500 1 kit ABC y xkpyvi
0,722 0.480 2 kant ABC 2 ayxa .| kpaha
0,964 0,440 1 kanT HBIL | ayka
0.650 0964 1 kant ABC | avika
Z.I'laepnl:n:::euemeul 0.672 0.430 2 wanT [IBLL | avxka | kpaha
A-427 0,364 0,410 2 kant [IBI] | kpaha
0,672 0.364 1 kaut [1BI] | kpaha
0.400 0,190 6 kar( [IBLL 1 mywa
0.302 0.190 6 kant TIBIL 1 ayxa
0218 0,395 3 kant ABC v kpyr
2. Jleconnt 6ean 0,400 (0,338 3
0.904 1.050 1 xant ABC v kpyr (viia unowa 3 6)- exiiia M-1
0.700 1.000 4 kaut ABC | myvaa.2 xpahe
3 Mnepmm onewenenn | | 0828 0.970 ] want 11BIL | rpaha
1.8 um  A-427/A-865 0.700 0,828 1 want [IBLL 1 xvaa
0.650 0,100 3 waur [1BI] 2 avxa
0.680 0410 2 kant ABC y kpyr (48¢ pync sa WapKy Ha Ayko) CTPaHH )}
0.500 1.092 2 kauT AbC 2 iva- ckwia M-2
41'2"::"“":?:;;::_";:: 0.500 0.542 ;) kant AbC 2 nyxa- ckana M-3
1,020 0.470 | kaut MBI v kpyr
0.900 0205 2 ka1t AbC | avaca 2 kpahe
5..I‘1Mpm:lso::rmmma 0.864 0.295 2 kant ABC | myxa
A-835 1254 0,295 2 kanT ABC | myxa
0,406 0,290 i} xaut ABC | avxa
5. Jleconwn Bean 1,290 0.900 1
0.750 0.500 2 wanT LIBIL | myxa 2 kpaha
6.HBepuua onaememena 0.714 0,500 1 kant [IBL | myvaea
1.8 um 1.124 0,500 2 kant [IBIL | ywa
ARG 0.553 0.495 2 warrt TIBIL | aywa
0.710 0,577 2 kaiT ABC v kpyr (aBe pvie 3a mapky Ha OvkO] cTpanH)
6. Meconnt Gean 1,160 0,750 1




